Sophia Forest HZEIFHZF
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II ROFAEZLLGSN, GEH R4) [LAIL Kk]

(1) 8a(2a+b—-3) (2) (6x2—8xy)+§x
16a? + 8ab — 24a 9x — 12y
II ROXZREAZLEGEL, GEF R4) [LAIL K]
(1) x=-3)(y+5) (2)  (x—6)?
xy + 5x — 3y — 15 x?—12x+ 36
(3) (x—4)(x+8) (4) ((x-=5(x+5)
x% + 4x — 32 x? =25

ROXZERABAELEGIV, (B R4) [LRIL K]

(1) 18xy + 24xz (2) x%?+4x-21

6x(3y + 4z) (x+7)(x—3)

(8) x%2-100 (4) 3x2—12x—36

(x+10)(x —10) 3(x—6)(x+2)




Sophia Forest % 35H#HEF
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ROXZELRLTEHELGEL, (AR R5) [LAIL Kkx]

(1)  54% —46° (2) 102x98
= KEUh
x> —a’=(x+a)(x—a) (x+a)(x—a) =x%—a?
542 — 462 102 x 98
= (54 + 46)(54 — 46) = (100 + 2)(100 — 2)
= 100 x 8 = 1002 — 22
= 800 = 10000 — 4

= 9996
!I ROARZEBELGSL, (F R4) [LAIL dkx]
(1) <2x+E><2x—§> (2) (x—y+3)x+y-3)
2 2
4x2+2x—14—5 x2—vy2+6y—9

RORXZEREAELLEEL, GEF R4) [LRNL k]

(1) 5a? —80b% (2) ab—-3b+8a-24

5(a + 4b)(a — 4b) (a—3)(b+8)




